RARVEMBERS

n Jon buys this bag of apples. n Annie has two jugs of juice.

There are U litres of juice in jug A.
Annie pours 3 litres of juice from
jug A into jug B.

He buys two more bags like this.

- There is now the same amount of
@ @ juice in each jug.
How many litres of juice were in the

How many apples does he have jug at the start?
in total?




RARVEMBERS iy

n A shop sells roses. “ There are 3 groups of children.
- There are the same number of children in Ist
and 2nd group.

There are 75 more children in the 3rd group
- The rest are white roses. than the Is* group.

There are 30 red roses. . Some children are moved from the 3rd

] group to the other groups.
How many more white roses are there There are now the same number in each

than red roses? group.

There are 193 children in the Ist group now.
How many children were in the Ist group at the
start?

%of the roses are red.




